

STATE OF WISCONSIN Assembly Journal

One-Hundred and Third Regular Session

TUESDAY, December 12, 2017

The Chief Clerk makes the following entries under the above date:

Wisconsin Act 134....Assembly Bill 499.December 12, 2017

AMENDMENTS OFFERED

Assembly Amendment 1 to **Assembly Bill 469** offered by Representative Barca.

Assembly Amendment 1 to **Assembly Bill 498** offered by Representatives Edming and R. Brooks.

REFERENCE BUREAU CORRECTIONS

Assembly Bill 457

1. Page 3, line 7: delete "Nonstatutory provisions" and substitute "Initial applicability".

EXECUTIVE COMMUNICATIONS

State of Wisconsin Office of the Governor Madison

December 8, 2017

To the Honorable Members of the Assembly:

The following bills, originating in the Assembly, have been approved, signed and deposited in the office of the Secretary of State:

Bill Number	Act Number	Date Approved
Assembly Bill 98	124	December 8, 2017
Assembly Bill 138	125	December 8, 2017
Assembly Bill 390	127	December 8, 2017
Assembly Bill 205	132	December 8, 2017
Assembly Bill 96	133	December 11, 2017
Assembly Bill 499	134	December 11, 2017

Respectfully submitted, SCOTT WALKER Governor

Pursuant to s. 35.095 (1)(b), Wisconsin Statutes, the following 2017 Acts have been published:

Act NumberBill NumberPublication DateWisconsin Act 124..... Assembly Bill 98.... December 9, 2017Wisconsin Act 125.... Assembly Bill 138... December 9, 2017Wisconsin Act 127.... Assembly Bill 390... December 9, 2017Wisconsin Act 132.... Assembly Bill 205... December 9, 2017Wisconsin Act 133.... Assembly Bill 96... December 12, 2017

SPEAKER'S COMMUNICATIONS

December 11, 2017

Patrick Fuller Assembly Chief Clerk 17 West Main Street, Suite 401 Madison, WI 53703

Dear Chief Clerk Fuller:

Pursuant to Assembly Rule 9 (c) Assembly Minority Leader Gordon Hintz has requested a change to the minority membership of two Assembly committees. I consent to those changes, and they are as follows:

Add Representative Jill Billings to the Assembly Committee on Family Law

Add Representative JoCasta Zamarripa to the Assembly Committee on Financial Institutions

Thank you for your attention to this matter. Please contact my office with any questions.

Sincerely, ROBIN J. VOS Assembly Speaker

December 11, 2017

Patrick Fuller

Assembly Chief Clerk 17 West Main Street, Suite 401 Madison, WI 53703

Dear Chief Clerk Fuller:

Pursuant to Assembly Rule 9 (c) Assembly Minority Leader Gordon Hintz has requested a change to the minority membership of the Joint Legislative Council Committee. I consent to those changes and they are as follows:

Add Representative Peter Barca to the Joint Legislative Council Committee

Remove Representative Cory Mason from the Joint Legislative Council Committee

Thank you for your attention to this matter. Please contact my office with any questions.

Sincerely, ROBIN J. VOS Assembly Speaker December 12, 2017

Patrick Fuller Assembly Chief Clerk 17 West Main Street, Suite 401 Madison, WI 53703

Dear Chief Clerk Fuller:

Pursuant to Assembly Rule 9 (c) Assembly Minority Leader Gordon Hintz has requested a change to the minority membership of the Assembly Committee on Energy and Utilities. I consent to those changes and they are as follows:

Add Representative David Crowley to the Assembly Committee on Energy and Utilities

Thank you for your attention to this matter. Please contact my office with any questions.

Sincerely, ROBIN J. VOS Assembly Speaker

December 12, 2017

Patrick Fuller Assembly Chief Clerk 17 West Main Street, Suite 401 Madison, WI 53703

Dear Chief Clerk Fuller:

Pursuant to Assembly Rule 9 (c) Assembly Minority Leader Gordon Hintz has requested a change to the minority membership of the Assembly Committee on State Affairs. I consent to those changes and they are as follows:

Add Representative Peter Barca to the Assembly Committee on State Affairs

Remove Representative Steven Doyle from the Assembly Committee on State Affairs

Thank you for your attention to this matter. Please contact my office with any questions.

Sincerely, ROBIN J. VOS Assembly Speaker

December 12, 2017

Patrick Fuller Assembly Chief Clerk 17 West Main Street, Suite 401 Madison, WI 53703

Senate Chief Clerk Jeffrey Renk B20 South East, Wisconsin State Capitol Madison, WI 53703

Dear Chief Clerk Fuller and Chief Clerk Renk:

Assembly Speaker Robin Vos and Senate Majority Leader Scott Fitzgerald have created the Blue Ribbon Commission on School Funding. The commission is chaired by Representative Joel Kitchens (R-Sturgeon Bay) and Senator Luther Olsen (R-Ripon). In addition to the chairs, the commission consists of the following members:

- Sen. Alberta Darling (R-River Hills)
 - Sen. Howard Marklein (R-Spring Green)
 - Sen. Kathleen Vinehout (D-Alma)
 - Rep. Cody Horlacher (R-Mukwonago)
 - Rep. Romaine Quinn (R-Rice Lake)
 - Rep. Sondy Pope (D-Mt. Horeb)
 - Rep. Jason Fields (D-Glendale)
 - Ted Neitzke, CEO, CESA 6
 - Dr. Michelle Langenfeld, Superintendent, Green Bay Area Public Schools
 - Dr. Joni Burgin, Superintendent, Grantsburg School District
 - Dan Rossmiller, Director of Government Relations, Wisconsin Association of School Boards
 - Lori Saqer, Director of Business Operations, Messmer Catholic Schools, Inc.
 - Dr. Julie Underwood, Professor, Department of Educational Leadership and Policy Analysis, UW-Madison
 - Dr. Bill Hughes, Chief Academic Officer, Seton Catholic Schools

If you have any questions regarding the commission, please do not hesitate to contact either of our offices.

Sincerely, *ROBIN J. VOS* Assembly Speaker

SCOTT FITZGERALD Senate Majority Leader

COMMUNICATIONS

December 8, 2017

Patrick E. Fuller Assembly Chief Clerk 17 West Main Street, Suite 401 Madison, WI 53703

Dear Chief Clerk Fuller:

Please add my name as a co-author of Assembly Bill 676, relating to classifying county jailers as protective occupation participants under the Wisconsin Retirement System and the treatment of county jailers under the Municipal Employment Relations Act.

> Sincerely, KATRINA SHANKLAND State Representative 71st Assembly District

> > December 11, 2017

Patrick E. Fuller Assembly Chief Clerk 17 West Main Street, Suite 401 Madison, WI 53703

Dear Chief Clerk Fuller:

Please add my name as a co-author of Assembly Bill 732, relating to pilot program to provide outreach, support, and mental health and substance abuse services for veterans and making an appropriation.

Sincerely, EVAN GOYKE State Representative 18th Assembly District

December 8, 2017

Patrick E. Fuller Assembly Chief Clerk 17 West Main Street, Suite 401 Madison, WI 53703

Dear Chief Clerk Fuller:

Please add my name as a co-author of Assembly Bill 225, relating to placement of cigarettes, nicotine products, or tobacco products by retailers and providing a penalty.

Sincerely, ERIC GENRICH State Representative 90th Assembly District

December 8, 2017

Patrick E. Fuller Assembly Chief Clerk 17 West Main Street, Suite 401 Madison, WI 53703

Dear Chief Clerk Fuller:

Please add my name as a co-author of Assembly Bill 598, relating to eligibility for physician, dentist, and health care provider educational loan assistance programs.

Sincerely, AMY LOUDENBECK State Representative 31st Assembly District

December 8, 2017

State of Wisconsin Office of the Secretary of State Madison

To Whom It May Concern:

Acts, Joint Resolutions and Resolutions deposited in this office have been numbered and published as follows:

Jt. Res. Number	. Enrolled Number.	Publication Date
Assembly Joint Res. 18	8	Not Published
Assembly Joint Res. 44		Not Published
Assembly Joint Res. 81		Not Published

Sincerely, DOUGLAS LA FOLLETTE Secretary of State

AGENCY REPORTS

Pursuant to Wis. Stats. § 13.172 (2) and (3), following is a list of agency reports received from executive branch and legislative service agencies for the month of November, 2017.

Public Service Commission of Wisconsin

Energy Efficiency and Renewable Resource Program Activities in Wisconsin, January - December 2016 Pursuant to 2005 Wisconsin Act 141 Received on November 2, 2017 Referred to **Energy and Utilities**

Department of Children and Families

90-Day Summary Report for Child Death, Serious Injury or Egregious Incident Pursuant to Wis. Stats. 48.981 (7)(cr)3.b Received on November 3, 2017 Referred to **Children and Families**

Wisconsin Ethics Commission

Updated list of authorized lobbyists Pursuant to Wis. Stats. 13.685 (7) Received on November 7, 2017 Referred to **State Affairs**

Shawano School District

2016-17 Charter School Authorizer Annual Report Pursuant to Wis. Stats. 118.40 (3m)(f) Received on November 7, 2017 Referred to **Education**

Department of Natural Resources

Invasive Species Interim Performance Report Pursuant to Wis. Stats. 23.22 (6)(c) Received on November 8, 2017 Referred to **Natural Resources and Sporting Heritage**

Department of Natural Resources

Land Acquisition Report Pursuant to Wis. Stats. 23.0913 (2) Received on November 8, 2017 Referred to Natural Resources and Sporting Heritage

Department of Natural Resources

Stewardship Nature Based Outdoor Recreation Activity Prohibition Report Pursuant to Wis. Stats. 23.0916 (6) Received on November 8, 2017 Referred to **Natural Resources and Sporting Heritage**

Kewaskum School District

2016-17 Charter School Authorizer Annual Report Pursuant to Wis. Stats. 118.40 (3m)(f) Received on November 8, 2017 Referred to **Education**

Department of Children and Families

90-Day Summary Report for Child Death, Serious Injury or Egregious Incident Pursuant to Wis. Stats. 48.981 (7)(cr)3.b Received on November 9, 2017 Referred to **Children and Families**

Wisconsin Economic Development Corporation

FY17 Comprehensive Annual Financial Report Pursuant to Wis. Stats. 238.07 (4) Received on November 14, 2017 Referred to **Jobs and the Economy**

Wisconsin Ethics Commission

Updated list of authorized lobbyists Pursuant to Wis. Stats. 13.685 (7) Received on November 14, 2017 Referred to **State Affairs**

Hortonville School District

2016-17 Charter School Authorizer Annual Report Pursuant to Wis. Stats. 118.40 (3m)(f) Received on November 16, 2017 Referred to **Education**

University of Wisconsin System

2017 Legislated Accountability Requirement Pursuant to 2011 Wisconsin Act 32 and 2015 Wisconsin Act 55 Received on November 16, 2017 Referred to **Colleges and Universities**

Rural Virtual Academy

2016-17 Charter School Authorizer Annual Report Pursuant to Wis. Stats. 118.40 (3m)(f) Received on November 17, 2017 Referred to **Education**

Department of Administration

FY17 Wisconsin Works (W-2) Hiring Report Pursuant to Wis. Stats. 230.147 Received on November 17, 2017

Grantsburg School District

2016-17 Charter School Authorizer Annual Report Pursuant to Wis. Stats. 118.40 (3m)(f) Received on November 20, 2017 Referred to **Education**

Department of Natural Resources

Biennial Report on Operation of Clean Water Fund and Safe Drinking Water Loan Programs Pursuant to Wis. Stats. 281.59 (3)(j) Received on November 21, 2017 Referred to **Environment and Forestry**

Wisconsin Ethics Commission

Updated list of authorized lobbyists Pursuant to Wis. Stats. 13.685 (7) Received on November 21, 2017 Referred to **State Affairs**

Verona School District

2016-17 Charter School Authorizer Annual Report Pursuant to Wis. Stats. 118.40 (3m)(f) Received on November 21, 2017 Referred to **Education**

Department of Children and Families

90-Day Summary Report for Child Death, Serious Injury or Egregious Incident Pursuant to Wis. Stats. 48.981 (7)(cr)3.b Received on November 22, 2017 Referred to **Children and Families**

Lodi School District

2016-17 Charter School Authorizer Annual Report Pursuant to Wis. Stats. 118.40 (3m)(f) Received on November 27, 2017 Referred to **Education**

Department of Health Services

2017 Public Health Emergency Preparedness Pursuant to Wis. Stats. 250.03 (3)(b) Received on November 30, 2017 Referred to **Health**

Wisconsin Ethics Commission

Updated list of authorized lobbyists Pursuant to Wis. Stats. 13.685 (7) Received on November 28, 2017 Referred to **State Affairs**

Janesville School District

2016-17 Charter School Authorizer Annual Report Pursuant to Wis. Stats. 118.40 (3m)(f) Received on November 28, 2017 Referred to **Education**

Legislative Audit Bureau

Read to Lead Development Fund Pursuant to Wis. Stats. 13.94 (1)(dL) Received on November 28, 2017

Tomorrow River School District

2016-17 Charter School Authorizer Annual Report Pursuant to Wis. Stats. 118.40 (3m)(f) Received on November 28, 2017 Referred to **Education**

Prairie du Chien School District

2016-17 Charter School Authorizer Annual Report Pursuant to Wis. Stats. 118.40 (3m)(f) Received on November 28, 2017 Referred to **Education**

West De Pere School District

2016-17 Charter School Authorizer Annual Report Pursuant to Wis. Stats. 118.40 (3m)(f) Received on November 28, 2017 Referred to **Education**

Ekhorn Area School District

2016-17 Charter School Authorizer Annual Report Pursuant to Wis. Stats. 118.40 (3m)(f) Received on November 28, 2017 Referred to **Education**

Whitewater Unified School District

2016-17 Charter School Authorizer Annual Report Pursuant to Wis. Stats. 118.40 (3m)(f) Received on November 29, 2017 Referred to **Education**

Appleton School District

2016-17 Charter School Authorizer Annual Report Pursuant to Wis. Stats. 118.40 (3m)(f) Received on November 29, 2017 Referred to **Education**

Chetek-Weyerhaeuser Area School District

2016-17 Charter School Authorizer Annual Report Pursuant to Wis. Stats. 118.40 (3m)(f) Received on November 29, 2017 Referred to **Education**

Legislative Audit Bureau

Petroleum Inspection Fee Revenue Obligations Program Pursuant to Wis. Stats. 13.94 Received on November 30, 2017

Mukwonago Area School District

2016-17 Charter School Authorizer Annual Report Pursuant to Wis. Stats. 118.40 (3m)(f) Received on November 30, 2017 Referred to **Education**

Augusta School District

2016-17 Charter School Authorizer Annual Report Pursuant to Wis. Stats. 118.40 (3m)(f) Received on November 30, 2017 Referred to **Education**

Madison Metropolitan School District

2016-17 Charter School Authorizer Annual Report Pursuant to Wis. Stats. 118.40 (3m)(f) Received on November 30, 2017 Referred to **Education**

Cumberland School District

2016-17 Charter School Authorizer Annual Report Pursuant to Wis. Stats. 118.40 (3m)(f) Received on November 30, 2017 Referred to **Education**

Oconto Unified School District

2016-17 Charter School Authorizer Annual Report Pursuant to Wis. Stats. 118.40 (3m)(f) Received on November 30, 2017 Referred to **Education**

Department of Children and Families

90-Day Summary Report for Child Death, Serious Injury or Egregious Incident Pursuant to Wis. Stats. 48.981 (7)(cr)3.b Received on November 30, 2017 Referred to **Children and Families**

University of Wisconsin - Parkside

2016-17 Charter School Authorizer Annual Report Pursuant to Wis. Stats. 118.40 (3m)(f) Received on November 30, 2017 Referred to **Education**

Sheboygan Area School District

2016-17 Charter School Authorizer Annual Report Pursuant to Wis. Stats. 118.40 (3m)(f) Received on November 30, 2017 Referred to **Education**

Wausau School District

2016-17 Charter School Authorizer Annual Report Pursuant to Wis. Stats. 118.40 (3m)(f) Received on November 30, 2017 Referred to **Education**

Cameron School District

2016-17 Charter School Authorizer Annual Report Pursuant to Wis. Stats. 118.40 (3m)(f) Received on November 30, 2017 Referred to **Education**

New London School District

2016-17 Charter School Authorizer Annual Report Pursuant to Wis. Stats. 118.40 (3m)(f) Received on November 30, 2017 Referred to **Education**

Department of Administration

Temporary reallocation of balances Pursuant to Wis. Stats. 20.002 (11)(f) Received on November 30, 2017 Referred to **Ways and Means** and joint committee on **Finance**